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LOKENATH PROJECTS:-

BLOCK - B

ANAND VIHAR PH-III

BALCONY

aa ]
<
® _
== CARPT.AREA | COV.AREA  TOTALBUILT
- MKD | sqm. Sq.M. UP AREA Sq.M.
z O

—
S< | Lot-6| 78.00 |88.00 117.00
A A | ]
zZg Lot 79.00 1101.00 |135.00
%23 Lot4 | 60.00 101.00 | 135.00
43S TOTAL 217.00 | 290.00 @ 387.00
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LOKENATH PROJECTS:-

"BLOCK - C

a
<
S _ .
— g | CARPT AREA = COV.AREA  TOTAL BUILT
=ESQ MKD |gqm Sq.M. UP AREA Sq.M.
A 'z 8 |
<
g 2% | LOT-J | s5.00 80.00 108.00
— A oar
> Z % S| LOT-K | 82.00 97.00 130.00
a =
Z (31 - .| LOT-L | 82.00 96.00 129.00
FEE y
2GRz TotAL 219.00  273.00 @ 367.00
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